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Instructions 
· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· Answer all questions. 

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be used.

· If your calculator does not have a π button, take the value of π to be 
3.142 unless the question instructs otherwise.

Information

· The total mark for this paper is 100 

· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

· Questions labelled with an asterisk (*) are ones where the quality of your 
written communication will be assessed.

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

Suggested Grade Boundaries (for guidance only)

	A*
	A
	B
	C
	D

	74
	51
	33
	19
	10


GCSE Mathematics 1MA0

Formulae: Higher Tier

You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.

Volume of prism = area of cross section × length
Area of trapezium = 
[image: image2.wmf]1
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(a + b)h
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Volume of sphere 
[image: image5.wmf]4
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πr3 
Volume of cone 
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πr2h

Surface area of sphere = 4πr2 
Curved surface area of cone = πrl
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In any triangle ABC 
The Quadratic Equation



The solutions of ax2+ bx + c = 0



where a ≠ 0, are given by



x = 
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Sine Rule  
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Cosine Rule  a2 = b2+ c2– 2bc cos A

Area of triangle = 
[image: image11.wmf]1
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ab sin C

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.
1.
[image: image12.emf]
ABC and DEF are parallel lines.

BEG is a straight line.

Angle GEF = 47(.

Work out the size of the angle marked x.

Give reasons for your answer.

..............................................(
(Total 3 marks)

___________________________________________________________________________

2. 
A rugby team played six games.

The mean score for the six games is 14.5

The rugby team played one more game.

The mean score for all seven games is 16

Work out the number of points the team scored in the seventh game.

.......................... points

(Total 2 marks)

___________________________________________________________________________

3. 
Pradeep wants to find out how much time people spend playing sport.

He uses this question on a questionnaire.

[image: image13.emf]
(a) 
Write down two things wrong with this question.


1.............................................................................................................................................

...............................................................................................................................................

2.............................................................................................................................................

...............................................................................................................................................
(2)

(b)
Design a better question for Pradeep’s questionnaire to find out how much time people spend playing sport.

(2)

(Total 4 marks)

___________________________________________________________________________

4. 
The diagram shows a solid prism.
[image: image14.emf]
On the centimetre square grid, draw the side elevation of the solid prism from the 
direction shown by the arrow.
[image: image15.emf]
(Total 2 marks)


___________________________________________________________________________
5. 

[image: image16.emf]
Describe the single transformation that maps triangle A onto triangle B.
......................................................................................................................................................

......................................................................................................................................................

(Total 2 marks)

___________________________________________________________________________

6.

[image: image17.emf]
All angles are measured in degrees.

ABC is a straight line.

Angle APB = x + 50
Angle PAB = x – 10

Angle PBC = y

(a)
Show that y = 3x + 40

Give reasons for each stage of your working.

(3)
(b) 
Given that y = 145

(i)
work out the value of x,

x = ...............................


(ii)
work out the size of the largest angle in triangle ABP.

................................... °

(4)
(Total 7 marks)

___________________________________________________________________________

*7.

[image: image18.emf]
PRS and TWY are parallel straight lines.

QRWZ is a straight line.

Work out the value of x.

Give reasons for your answer.

(Total 3 marks)

___________________________________________________________________________

8. 
The table shows some information about the ages, in years, of 60 people.

	Age (in years)
	Frequency

	0 to 9
	6

	10 to 10
	13

	20 to 29
	12

	30 to 39
	9

	40 to 49
	7

	50 to 59
	3

	60 to 69
	10


(a)
Write down the modal class.

.....................................

(1)

Luke says



“The median lies in the class 30 to 39”
Luke is wrong.
(b)
Explain why.

...............................................................................................................................................

............................................................................................................................................... (1)

[image: image19.emf]
(c)
On the grid, draw a frequency polygon for the information in the table.

(2)

(Total 4 marks)
___________________________________________________________________________

9. 
The exchange rate in London is £1 = €1.14

The exchange rate in Paris is €1 = £0.86

Elaine wants to change some pounds into euros.

In which of these cities would Elaine get the most euros?

You must show all of your working.

.....................................
(Total 3 marks)

___________________________________________________________________________

10. 

[image: image20.emf]
Describe fully the single transformation that maps triangle P onto triangle Q.
......................................................................................................................................................

......................................................................................................................................................

 (Total 2 marks)

___________________________________________________________________________

11. 
The diagram shows a cube and a cuboid.
[image: image21.emf]
All the measurements are in cm.

The volume of the cube is 100 cm3 more than the volume of the cuboid.

(a)
Show that x3 – 10x = 100

(2)

(b) 
Use a trial and improvement method to find the value of x.


Give your answer correct to 1 decimal place.


You must show all your working.

x = ..............................................

(4)

(Total 6 marks)

___________________________________________________________________________
12.
Here are the first five terms of an arithmetic sequence.
4
9
14
19
24

(a)
Find, in terms of n, an expression for the nth term of this sequence.
..........................................

(2)

Here are the first five terms of a different sequence.

2
2
0
–4
–10

An expression for the nth term of this sequence is 3n – n2.

(b)
Write down, in terms of n, an expression for the nth term of a sequence whose first five terms are
4
4
0
–8
–20
..........................................

(1)

(Total 3 marks)

___________________________________________________________________________

12. 
The frequency table gives information about the times it took some office workers to get to the office one day.
	Time (t minutes)
	Frequency

	  0 < t (10
	4

	10 < t ( 20
	8

	20 < t ( 30
	14

	30 < t ( 40
	16

	40 < t ( 50
	6

	50 < t ( 60
	2


(a)
Draw a frequency polygon for this information.
[image: image22.emf]
(2)

(b) 
Write down the modal class interval.

..............................................

(1)

One of the office workers is chosen at random.

(c) 
Work out the probability that this office worker took more than 40 minutes to get to the office.

..............................................

(2)

(Total 5 marks)

___________________________________________________________________________
13.
The diagram shows a swimming pool in the shape of a prism.
[image: image23.emf]
The swimming pool is empty.
The swimming pool is filled with water at a constant rate of 50 litres per minute.

(a)
Work out how long it will take for the swimming pool to be completely full of water.


Give your answer in hours.


(1 m3 = 1000 litres)
..........................................hours
(5)
Here are four graphs.

[image: image24.emf]
(b)
Write down the letter of the graph that best shows how the depth of the water in the pool


above the line MN changes with time as the pool is filled.
..........................................

(1)

(Total 6 marks)

___________________________________________________________________________

14. 
The table shows six expressions.

n is a positive integer.
	2n − 3
	3n − 2
	3(n + 4)
	4n + 1
	4(3n + 1)
	2n + 1


(a)
From the table, write the expression whose value is


(i) 
always even

...........................................


(ii) 
always a multiple of 3

...........................................

(2)

(b) 
From the table, write the expression which is a factor of 4n2 − 1

...........................................

(1)

(Total 4 marks)

___________________________________________________________________________

15. 

[image: image25.emf]
PQR and PTS are straight lines.

Angle PTQ = Angle PSR = 90°
QT = 4 cm

RS = 12 cm

TS = 10 cm

(a) 
Work out the area of the trapezium QRST.
.......................................... cm2
(2)

(b) 
Work out the length of PT.
.......................................... cm

(3)

(Total 5 marks)

___________________________________________________________________________

16. 
Bill’s weight decreases from 64.8 kg to 59.3 kg.

Calculate the percentage decrease in Bill’s weight.

Give your answer correct to 3 significant figures.

..............................................%

(Total 3 marks)


___________________________________________________________________________
17.

[image: image26.emf]
Triangle P is drawn on a coordinate grid.

The triangle P is reflected in the line x = –1 and then reflected in the line y = 1 to give triangle Q.

Describe fully the single transformation which maps triangle P onto triangle Q.

......................................................................................................................................................
......................................................................................................................................................
 (Total 3 marks)

___________________________________________________________________________

18.
The table gives some information about the lengths of time, in hours, that some adults

watched TV last week.
	Length of time (t hours)
	Frequency

	0 < t ≤ 10
	8

	10 < t ≤ 15
	15

	15 < t ≤ 20
	11

	20 < t ≤ 30
	10

	30 < t ≤ 50
	6


(a)
Work out an estimate for the mean length of time.
..............................................hours
(4)

(b)
Draw a histogram for the information in the table.
[image: image27.emf]
(3)

(Total 7 marks)

___________________________________________________________________________

19. 
Rob is learning about the planets.

Rob makes a model of the Sun.

He also makes a model of the planet Jupiter.

Rob is going to hang the two models in the school hall.

Rob wants a distance of 16 m between the two models.

The real distance between the planet Jupiter and the Sun is 8 × 108 km.

Work out the scale Rob should use.

Give your answer in the form 1 : n

..............................................

(Total 3 marks)

___________________________________________________________________________
20. 
25 students in class A did a science exam.

30 students in class B did the same science exam.

The mean mark for the 25 students in class A is 67.8.

The mean mark for all the 55 students is 72.0.

Work out the mean mark for the students in class B.

..............................................

(Total 3 marks)

___________________________________________________________________________

21. 
The histogram shows some information about the weights of a sample of apples.
[image: image28.emf]
Work out the proportion of apples in the sample with a weight between 140 grams and 200 grams.
..........................................

(Total 4 marks)

___________________________________________________________________________

22.
h is inversely proportional to the square of r.
When r = 5, h = 3.4.
Find the value of h when r = 8.
h = ..............................................

(Total 3 marks)

___________________________________________________________________________

23. 
The diagram shows a pyramid.
[image: image29.emf]
BCDE is a square with sides of length 10 cm.

The other faces of the pyramid are equilateral triangles with sides of length 10 cm.

(a) 
Calculate the volume of the pyramid.


Give your answer correct to 3 significant figures.

.............................................. cm3
(4)

(b) 
Find the size of angle DAB.
..............................................°

(2)

(Total 6 marks)

___________________________________________________________________________
*24. 

[image: image30.wmf]s
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s = 3.47 correct to 2 decimal places.
t = 8.132 correct to 3 decimal places.
By considering bounds, work out the value of m to a suitable degree of accuracy.

You must show all your working and give a reason for your final answer.
(Total 5 marks)

___________________________________________________________________________

25.
Solve the simultaneous equations
      x2 + y2 = 9

x + y = 2

Give your answers correct to 2 decimal places.

x = ............................  y = ............................

or x = ............................  y = ............................

(Total 6 marks)
___________________________________________________________________________

(TOTAL FOR PAPER: 100 MARKS)

	1
	
	180 – 47 
	133
	3
	M1 for 180 – 47

A1 for 133

C1(dep on M1) for full reasons e.g.

angles on a straight line add up  to 180o and alternate angles are equal




	2
	
	16 × 7 = 112

112 - 87
	25
	2
	M1 for 6 × 14.5 (= 87) or 7 × 16 (=112) or 6 × 1.5 (= 9) or 7 × 1.5 (= 10.5) 

A1 for 25




	3
	(a)
	
	reasons
	2
	1st aspect : time frame

2nd aspect : overlapping boxes

3rd aspect : not exhaustive (eg. no box for more than 4)

B2 any two aspects

(B1 any one aspect)



	
	(b)
	
	How much time do you spend playing sport each week/month

None

1 hr to 2 hrs

3 hrs to 5 hrs

More than 5 hrs
	2
	B1 for a suitable question which includes a time frame and unit (the time frame and unit could appear with the response boxes)

B1 for at least 3 non-overlapping response boxes (need not be exhaustive) or at least 3 response boxes exhaustive for all integer values of their time unit (could be overlapping). 

[Do not allow inequalities in response boxes]




	4
	
	
	


	2
	M1 for a 5cm by 5 cm square or a 5cm by 3 cm rectangle or a 5 cm by 2 cm rectangle

A1 for correct elevation with dividing line

NB: diagrams which appear to have a 3D element get 0 marks




	5
	
	
	Translation 
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	2
	B1 for translation

B1 for 
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 EMBED Equation.3 [image: image33.wmf] 
[image: image34.wmf]
NB No marks if more than one transformation given.




	6
	(a)
	2x – 10 + x + 50 (ext angle of a triangle = sum of interior opp angles)

OR

180 – (2x – 10 + x + 50) = 140 – 3x  

(sum of the angles in a triangle = 180)

180 – (140 – 3x)  (sum of the angles on a straight line = 180)

	Show result, with reasons


	3
	M1 for 2x – 10 + x + 50  or 2x + x and 50 − 10

A1 for completing the algebra to complete the proof and showing y = 3x + 40

B1 for ‘ext angle of a triangle = sum of interior opp angles’ 



	
	(b)(i)
	3x  = 145 – 40 = 105

105 ÷ 3

35 + 50 = 85
	35


	4
	M1 for clear attempt to subtract 40 from both sides of the equation or divide all 3 terms by 3 or (3x =) 145 – 40 or 105 seen

A1 cao



	
	     (ii)
	2 × 35 – 10 = 60

180 – 145 = 35
	85
	
	M1 ft for 2×’35’ – 10 or ‘35’ + 50 or 180 – 145 or can be implied by sight of 85 or 60 or for substituting ‘35’ in order to find at least one angle implied by sight of 85 or 60

A1 for 85 or ft for ‘35’ provided ‘x’ < 47




	*7
	
	
	54 with reasons
	3
	M1 for angle RWY or angle TWZ = 180 − 126 (= 54) or angle TWR or angle WRS = 126 (may be marked on diagram)

A1 for 54

C1 for appropriate reasons for method shown eg.

Angles on a straight line add up to 180  and  Alternate angles are equal

OR

Corresponding angles are equal and 

Angles on a straight line add up to 180
OR

Vertically opposite angles are equal and

Allied angles / Co-interior angles add up to 180
OR

Angles at a point add up to 360  with other reasons as above.



	8
	(a)
	
[image: image35.wmf]2
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	37.7
	2
	M1 for π × 12 or π × 2 × 6

A1 for 37.6- 37.8


	
	(b)
	(100 ÷ 12) × (50 ÷ 12)  = 8 × 4 whole CDs
	36


	2
	B2 for 33, 34, 35, 36

or

M1 for (100 ÷ 12) × (50 ÷ 12)  oe or 8 × 4
A1  for 32

SC : B1 for 44




	9
	
	1 ÷ 1.14 = 0.877… is worse than 0.86

OR

1 ÷ 0.86 = 1.162… is better than 1.14
	Paris since 1.16..> 1.14
	3
	M1 for an attempted conversion using 1.14 or 0.86

A1 for arriving at two comparable amounts of money in the same currency

A1 for Paris with correct figures

	10
	
	
	Translation; [image: image37.png]



	2
	B1 for translation

B1 for [image: image39.png]





	11
	(a)


	
	show


	2


	M1    for  x×x×x or 2×5× x or vol of cube = x3 or
          vol cuboid = 10x
A1     correct completion leading to 
[image: image40.wmf]3
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	(b)


	x = 1

−9

x = 2

−2

x = 3

−3

x = 4

24

x = 5

75

x = 6

156

x = 10

900

x = 5.1

81.(651)

x = 5.2

88.(608)

x = 5.3

95.(877)

x = 5.4

103.(464)

x = 5.5

111.(375)

x = 5.6

119.(616)

x = 5.7

128.(193)

x = 5.8

137.(112)

x = 5.9

146.(379)

x = 5.35

99.6(30375)

x = 5.36

100.3(90656)

x = 5.355

100.0(101139)


	5.4


	4


	B2    for a trial 5 ≤ x ≤ 6 evaluated correctly

(B1   for any two trials evaluated correctly for positive values of x)
B1    for a different trial 5.3 <  x <  5.4 evaluated correctly

B1    (dep on at least one previous B1) for 5.4

Accept trials correct to the nearest whole number (rounded or truncated) if the value of x is to 1 d.p., 

but correct to 1 d.p. (rounded or truncated) if the value of x is to 2 or more d.p.




	12
	(a)


	
	Correct Frequency Polygon


	2
	B2    Fully correct polygon. Points plotted at the midpoint 

(B1   All points plotted accurately not joined, or one error in plotting but joined or 

all points plotted accurately and joined with, additionally,  first joined to last or 

all points at the correct heights and consistently within or at the ends of the intervals and joined (Includes joining last to first to make a polygon))

NB: ignore polygon before 1st point, and after last point. 

Ignore any histograms. 



	
	(b)


	
	30 <t ≤40
	1
	B1    Allow any notation eg, 30-40 ft polygon

	
	(c)


	(6 +2) = 8, (4 + 8 + 14 + 16 + 6 + 2) = 50
	
[image: image41.wmf]8

50

 oe
	2
	M1    (6 +2)÷ (4 + 8 + 14 + 16 + 6 + 2) 

          or ft figures from polygon or

           
[image: image42.wmf]8

a

 with a > 8 or  
[image: image43.wmf]50

c

 with c < 50 or

            8 and 50 used but notation incorrect

            (eg.  8:50 , 8 out of 50)

A1     
[image: image44.wmf]8

50

oe (eg. 0.16) or ft figures from polygon




	13
	(a)
	
	65
	5
	M1 for splitting up the cross section into separate areas and a method to find the area of one part 

OR for splitting up the pool into smaller prisms and a method to find the volume of one small prism, e.g. a cuboid

M1 (dep) for a complete method to find the area of the cross section [with correct dimensions] OR for a method to find the total volume of more than one correct prism

M1 (dep) for a complete method to find the volume of the pool [with correct dimensions] (= 195)

M1 for “195” × 1000 ÷ 50 (=3900) oe where “195” comes from a volume

A1 cao



	
	(b)
	
	C
	1
	B1 cao




	14
	(a)(i)
	
	4(3n + 1)


	1


	B1 cao

	
	(ii)
	
	3(n + 4)


	1
	B1cao



	
	(b)
	
	2n + 1
	1
	B1cao




	15 
	(a)
	[image: image46.png]


× (4 + 12) × 10
	80
	2


	M1 for a fully correct method for area of QRST

A1 cao

	
	(b)
	For example

[image: image48.png]


  

PT + 10 = 3PT

2PT = 10
	5
	3
	M1 for a correct scale factor or ratio using two corresponding sides from two similar triangles or two sides within the same triangle

(may be seen within an equation)

eg. [image: image50.png]12



oe or 4 : 12 oe or  [image: image52.png]


or [image: image54.png]


 or [image: image56.png]


 etc.

M1 for a correct equation with PT or PS as the only variable or

complete correct method using scale factor 

A1 cao




	16


	
	
[image: image57.wmf]64.859.3

100

64.8

-

´

 (=8.487...)


	8.49
	3
	M1     64.8 − 59.3 (=5.5)

M1   (dep) 
[image: image58.wmf]'5.5'

100

64.8

´

 oe

A1     8.48 – 8.49




	17
	
	
	Rotation,

180º,

centre (–1, 1)
	3
	B1 for rotation

B1 for 180º (accept half turn)

B1 for (–1, 1)

(SC B1 for triangle with vertices (–3, 0) (–5, 0) (–3, –4) drawn)




	18
	(a)
	5 × 8 = 40

12.5 × 15 = 187.5

17.5 × 11 = 192.5

25 × 10 = 250

40 × 6 = 240

910 ÷ 50 = 18.2


	18.2
	4
	M1 for fx consistently within interval including ends (allow 1 error)

M1 consistently using appropriate midpoints

M1 (dep on first M1) for Σfx ÷ Σf

A1 for 18.2 cao



	
	(b)
	0 
[image: image59.wmf]£

 t <10    fd 0.8

10 
[image: image60.wmf]£

 t < 15   fd 3

15 
[image: image61.wmf]£

 t < 20   fd 2.2

20 
[image: image62.wmf]£

 t  < 30  fd 1

30 
[image: image63.wmf]£

 t  < 50  fd 0.3


	Correct histogram
	3
	B3 fully correct histogram with vertical axis correctly scaled.

(B2 for 4 correct blocks or 5 correct blocks with incorrect or no scale)

(B1 for 2 correct blocks of different widths or any 3 correct blocks or correct FD values for at least 3 frequencies) eg fd of  0.8, 3, 2.2, 1, 0.3




	19


	
	16 metres: 8 × 108 km.

16:  8 × 108× 1000

16: 8 × 1011
1: 5 × 1010


	1: 5 × 1010
	3
	M1    (indep) correct method to convert to

         consistent units

M1    
[image: image64.wmf]8

'810'

'16'

´

 (units may not be consistent) or 

           5 × 1010 oe or 5 × 107 oe

A1     1: 5 × 1010 or 1: 50 000 000 000




	20
	
	
	75.5
	3
	M1 for 25 × 67.8 (= 1695) or 55 × 72.0 (= 3960)  
M1 (dep) for (“3960” − “1695” ) ÷ 30
A1 cao




	21
	
	Total area = (0.12 × 40) + 

(0.36 × 20) +  (0.7 × 20) + 

(0.56 × 20) + (0.18× 40)

= 44.4

Area (140 < w < 200) =

(0.36 × 20) + (0.7 × 20) + 

(0.56 × 20) = 32.4

32.4 ÷ 44.4
	0.73
	4
	M1 for a method to find the frequency or the area of any one block 

M1 for a method (with correct values) to find total area of all blocks or 44.4 or 1110 or

a correct method (with correct values)  to find total area of middle 3 blocks or 32.4 or 810

M1 (dep on M2) for a correct method to find required proportion

(could lead to a decimal or a percentage or a fraction)

A1 for answer which rounds to 0.73 or 73% or [image: image66.png]27



 or equivalent fraction




	22
	
	
	[image: image67.png]1.33




	3
	M1 for [image: image69.png]


  oe or 3.4 × 52  (=85)

M1 for ‘3.4 × 52’ ÷ 82

A1 for answer in range 1.32 to 1.33 or 
[image: image70.wmf]85

64





	23 
	(a)
	Let O be the centre of the base.

OB2 + OC2 =  
[image: image71.wmf]2

10

 ; OB2 = 50

AO2 = AB2 – OB2  = 50

Vol = 
[image: image72.wmf]2

1

1050

3

´´



	236


	4
	M1 correct method to start to find BD or BO using triangle OBC or triangle BCD (oe)

       Eg. OB2 + OC2 =  
[image: image73.wmf]2

10

or BO 2 = 50 or
       BO = 
[image: image74.wmf]50

 (=7.07..) or BO = 
[image: image75.wmf]200

2

 or
       102 + 102 = BD2 or BD2 = 200 or BD=
[image: image76.wmf]200

(=14.1..)

M1    (dep) correct method to find height of pyramid using triangle AOB
         Eg. AO2 = 102 –
[image: image77.wmf]2

'50'

  or AO2 = 50 or 

       AO = 
[image: image78.wmf]50

 (=7.07..)

M1  (indep)  
[image: image79.wmf]2

1

10'50'

3

´´

      (but not 
[image: image80.wmf]2

1

1010

3

´´

)

A1     235 – 236



	
	(b)


	Angle ABO = 45o
Angle DAB = 180 – 45 – 45


	90
	2
	M1    Angle DAB = 180 – 2× ‘45’

A1     89.98 - 90




	*24
	
	
	0.229 because the LB and UB agree to that number of figures
	5
	B1 for 3.465 or 3.475 or 3.474999…

B1 for 8.1315 or 8.1325 or 8.132499…

M1 for [image: image82.png]


 as UB    OR    [image: image84.png]


 as LB

C1 (dep on all previous marks) for 0.2292… and 0.2288… both values must clearly come from working with correct values 

C1 for 0.229 from 0.2292… and 0.2288…  and ‘both LB and UB round to 0.229’


	25


	
	
	x = 2.87, 

y = −0.87

and

x = −0.87,

 y = 2.87
	6
	M1 for x2 + (2 – x)2 = 9         

M1 for 4 – 4x + x2 

A1 for 2x2 – 4x – 5 = 0 oe 3 term simplified quadratic

M1 for a correct method to solve their quadratic

 Eg     x = 4 ± √(16 – 4×2×−5)

                               4

A1 for x = 2.87, y = −0.87 or better

A1 for x = −0.87, y = 2.87 or better

Award marks for equivalent algebraic expressions.

Apply the same scheme as above for y first.




	Session
YYMM
	Question
	Mean score
	Max score
	Mean percentage
	ALL
	A*
	A
	%A
	B
	C
	%C
	D
	E

	1206
	Q01
	1.94
	3
	65
	1.94
	2.55
	2.31
	77.0
	2.08
	1.81
	60.3
	1.39
	0.85

	1203
	Q02
	0.71
	2
	36
	0.71
	1.74
	1.32
	66.0
	0.89
	0.45
	22.5
	0.14
	0.07

	1206
	Q03
	3.20
	4
	80
	3.20
	3.46
	3.45
	86.3
	3.37
	3.18
	79.5
	2.72
	1.88

	1311
	Q04
	1.30
	2
	71
	1.30
	1.74
	1.63
	81.5
	1.51
	1.28
	64.0
	0.91
	0.57

	1406
	Q05
	1.00
	2
	50
	1.00
	1.71
	1.46
	73.0
	1.18
	0.84
	42.0
	0.43
	0.13

	1111
	Q06
	3.04
	7
	43
	3.04
	6.18
	5.36
	76.6
	4.21
	2.63
	37.6
	1.41
	0.93

	1406
	Q07
	2.17
	3
	72
	2.17
	2.68
	2.51
	83.7
	2.33
	2.10
	70.0
	1.68
	0.99

	1011
	Q08
	1.80
	4
	45
	1.80
	3.34
	2.69
	67.3
	2.11
	1.46
	36.5
	0.88
	0.53

	1111
	Q09
	1.12
	3
	37
	1.12
	2.71
	2.20
	73.3
	1.50
	0.88
	29.3
	0.53
	0.39

	1303
	Q10
	0.80
	2
	40
	0.80
	1.72
	1.39
	69.5
	1.05
	0.70
	35.0
	0.38
	0.12

	1211
	Q11
	1.84
	6
	31
	1.84
	5.31
	4.15
	69.2
	2.59
	1.61
	26.8
	0.64
	0.13

	1211
	Q12
	2.27
	5
	45
	2.27
	4.50
	3.82
	76.4
	2.98
	2.14
	42.8
	1.38
	0.73

	1411
	Q13
	1.13
	6
	19
	1.13
	4.92
	3.86
	64.3
	2.54
	1.00
	16.7
	0.46
	0.30

	1106
	Q14
	1.63
	3
	54
	1.63
	2.70
	2.18
	72.7
	1.67
	1.13
	37.7
	0.67
	0.49

	1303
	Q15
	1.17
	5
	23
	1.17
	3.76
	2.62
	52.4
	1.66
	0.78
	15.6
	0.41
	0.35

	1211
	Q16
	1.00
	3
	33
	1.00
	2.57
	2.01
	67.0
	1.34
	0.83
	27.7
	0.54
	0.34

	1203
	Q17
	0.97
	3
	32
	0.97
	2.62
	1.96
	65.3
	1.20
	0.53
	17.7
	0.22
	0.15

	1411
	Q18
	1.10
	7
	16
	1.10
	6.19
	4.46
	63.7
	2.49
	1.02
	14.6
	0.32
	0.05

	1211
	Q19
	0.44
	3
	15
	0.44
	1.70
	1.17
	39.0
	0.70
	0.29
	9.7
	0.10
	0.03

	1406
	Q20
	0.65
	3
	22
	0.65
	2.39
	1.56
	52.0
	0.72
	0.17
	5.7
	0.02
	0.01

	1303
	Q21
	0.44
	4
	11
	0.44
	2.67
	1.58
	39.5
	0.63
	0.11
	2.8
	0.01
	0.00

	1306
	Q22
	0.34
	3
	11
	0.34
	2.30
	1.03
	34.3
	0.20
	0.02
	0.7
	0.00
	0.00

	1211
	Q23
	0.30
	6
	5
	0.30
	2.49
	0.82
	13.7
	0.28
	0.17
	2.8
	0.11
	0.07

	1303
	Q24
	0.46
	5
	9
	0.46
	3.18
	1.92
	38.4
	0.58
	0.06
	1.2
	0.01
	0.00

	1306
	Q25
	0.34
	6
	6
	0.34
	3.50
	0.71
	11.8
	0.08
	0.01
	0.2
	0.00
	0.00

	 
	 
	31.16
	100
	32
	31.16
	78.63
	58.17
	58.80
	39.89
	25.20
	25.83
	15.36
	9.11


Practice Paper – Gold 4





Gold: 4 of 4
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